[SE&HM]

1. RHERAZFEOHE

RHEREFIEL. LNGELPGO &AM (B S#HEHE) DEEIZGLT,
B REHSEMIMbYDEM) #ARIIHETT.

- EAEE R RHEE (83,350, ) LM R FHEIAE (3~54 ARITD34 AMOLNGELPGO i A ffi#) D ZZE100M [TDF,
1m&KHizY 0.081H (Hitk) AELET,

HAHEDHEISERT 2 FHEEHMERICDOLTIL, 133,360/ 2 LBELET,

2. FHMEHREAE (29M/ ) DSREDH RF € (202457 A 1%t 5)

(D FHEFHEEDOEE
<LNGF i A ffisg > <LPGI¥# A ffitg >
94,760 (/") X 0.9576 + 94,690 (/") X 0.0466 = 95154.730 (MH/".)
= 95150 (/%) XI0ARBEMEERA

(2) TR & BT Y R B SO Z 8 (RAHEKR LR O EE

< TR > < BAEF YRR >
95,150 (F4/*.) - 83350 (A/".) = 11,800 (/)
= 11,800 (/%) X100 K FEEET

Q) REHNEEMOARBEDEE

<[RFMEIE EBNEE > <HERE>
11,800 (/%) X 0.081 (M/m) + 100 (/%) X (1 + 010) = ( 105138 (A/m)
= 1051 (H/m) MINREIMUTEYR/T

(4) it B & Bl (B2) DHEE (—RARBIBHIR HERBOEHE)

<HEEHIHE> <tEHEHEOFRELE>
169.03 (F/m) + 1051 (A/m) = 179.54 (F/m)

(& &) 2024F6 ABRM N ORENSHEMED LT

2024478 202446 B =8
HEHSHEM +1051H +13.98M A3470
= k= = - .
RSN oRA0s) | TIOSIA|  rosm|  +oum

NEBR - HRAMEBERAREROBFIEICEIUESE(T5A/m3) EBATEYET .

(5)HRA¥& (20247 B #4t4>. Biad)

<HEAHE> <fEEHE B> <ARERAE>
1,588.88 (A/8) + 17954 (H/m) X 29(m/A) = 6,795.54 (M/8)
= 6,795 (M/H) XIARBEELIET

ok



